
,/99	""
�
�����
�99��� ? 0-�n99�99�����
��
���
��99�1�
�
�99��)����
�99�����
������99�99��������99

���
�99�99�������699�99�������

�+��6

���
��99��������99�99���
)���99�����+)�����
�99

���
�
�����S��99��)��99���99����
��99��)����

#��F��� #� �������������� ������!����'���=����� �� �������-�

3��������""#��������������""����� �#�������""�����������'""3��������

A��
 
�	���	� 	����� ��
� ����$ 674 / 8*69 B��������
	��
� ���

 ��	��
�  �
��
�
��	D � �� ��
 �����
$� ���
	�� �
�� �� � �
������
��� 	 �
��
�
� 
���

$ � 
��
�
�� . 	 �
�
��	
��+� . �����$ ��
���	�� =�	�����$ ��� �+
�
$ ���	��
�
� 
�
	�
�	���		 ������
�
� ���
�	� 
��  �
��
��	 � ��	�����	�� ��

�� ��
���
	����
�

�
	�	���		� ��������� �=A ���

 ��	��
�  �
��
��	 B*69D> ������	� �


�
�
 �
��
����.
 � �=A *69> �������$� � �
�
#+. ���	��
�$� �����

��

(�6�
��
 �����; ���

 ��	���� 674> 
�
	�	���	� ������
�
�> ��
���
	����
� �
���	�
�
���	��

4 ���+. ��	���	� �����

	�
�
	 ��
	��
�
�	�
� ����
�
�����		 �� 674 ���������
�
��  �
�����	��
+ ���

 ��	��$�  �
��
��	>
�$�
�����$� �� ���� ������
� 
	�� ;A�2'46
��
	��
��
�� �;� -4�
 ���Z.�+��0 B&
���
��D E'F B�	�� 'D�

A�� 
��������	� 
���

���	����	� �
���
��
���� 674 / 8*69 �$�	 �����	
��$ ������

��	�
	�	 *69 � 	��
�+�
���	�� ����$� 

������
��� ;A�2'46H ����
�$� ����
� ��	�
����
�
 � �
������
�� �
�� �� K ,' ��?�>
������	� ���

�
 �
�� �� K �>' &=�> �� 
�
����	� �=A �
������
�� K 1>:%� =
������

�
#�
�
+ *69 B�1 &(
D �$�	����� ��	 
���
����
 �� ���
� �� ��
�� � 
 ��	� #2 N
N '3�2>'3 �� =�	��

> �

 ������	� ���
� ��
�$��
�� 
 ��	�$ )) N 1>'12 &=�> � �� �� 
�
����	� �=A K 1>:LL)� 7!!��
	��$� �=A
���
�
� 674 / *69 �
�
��	� 2,>3 W E'F�

8����
$ �
 
��������	. �=A 674 / 8*69
� �� ��
 �����
$� ���
	�� �
�� �� � �
��
�����
��� ��	 ����$� ������	�� ���
� ��
��
�� � 
 ��	� �
�����	 B�	�� �D> �

 ����
�	���+�
� ������	� �!!��
	��
�
 �=A *69
� �� ��
 �����
$� ���
	�� �
�� �� �� N
N %1>:,L W �
��
 �$
+ �
�
	�� 

 ��	 ����
���		 ���
� �� ��
�� � #bc '>, &=� 	 
���
����
 �� ���
� ����� #bc #2 N '3�2>'3 ��
=�	 �

� ������	� ���
� ����� #dc ))�' N
N 1>) &=�> � �� #dc )) N 1>'12 &=�� 7����

�	������ �
#�
�
+ *69 1*69 N 3L>133 &(
>
����
� 

��	�� b 67X N �>�: ��?�� A�����	�
���
� ����� #bc )� 	������
�+ � �	����
��
'>� # '>: &=�� 6������
 �� �
�� �� #� �
���
)b�� 	 )b�� ��	��
� ����
� ,%2>'3 �I �
�

38 ÏÐÎÌÛØËÅÍÍÀß ÝÍÅÐÃÅÒÈÊÀ ¹ 11, 2013

e]Kb� Kb� #bc #dc

Ka�

Ka�

)b��

)b��

]f
Gbf

ged

fb

*��

*��

0��� <� ��
�� ��� ? 0-�n � �����
��
���
�� �1�
�
� ��)%
���� � �����
������ � �������� 

���
� � �������6 � �����%

��

�+��699���
��99��������;

Kb� 	 Kb� K �
�� 5�$� �
������
�$ �	��
�
 	 �$�
�
�

������	�I fb K 
����	
��+ �
�� ��I Ka� 	 Ka� K 
��
����
	 �
�
��	
��+��� �����$ ��
���	�I #bc 	 #dc K ���
�$�

 ��	�$ �$�
�
�
 	 �	��
�
 ������	�I )b�� 	 )b�� K ���
������
	��$� �
�� �
�
�
�����
��	 �$�
�
�
 	 �	��
�
 ����
���	�I ]f K �
�
��
�$� ���

����	
��+I Gbf K ������

�
�� 5�
�
 
�������	�I ged K �	�� ���	
��$� ���
�I
e] K������
�
������

�

%1>:

%1>%

%1>,

%1>3

%1>)

%1>2
'>� '>) '>,

��>�W

*�>�&=�

0��� @� A��������
+ 	""
�
������ (�4 ��� ? 0-�n �
 ���%
�
���99��)��99��99����
99�99��)���699
��/���99��������99����
���



�!!	�	��
 	��$
�� �
�� �� �
��� Kdc

' N '>%:1��

( 
���	�� ��	�����$ �
����
��	 8*69 �
�� ��
 �����
$� ���
	�� �
�� �� � �
������
�
�� 	 �� ��
 �����
$� �
��
�
� 
���

$ �

��
�� . 	 �
�
��	
��+� . �����$ ��
���
�	� ��	 ����	��$� 
������
 ��� ���
� ��
�$�
�� 	� �
�
��	
��+�
� �����$ ��
���	�
Ka� ��	 )� N '>, &=�> )) N 1>) &=�> #' N

N �::>'3 �> ' N '>%:1�> #2 N '3�2>'3 ��

A�� �
�������
� 
�
	�	���		 ������
�
�
� ���
�	� 
�� � 	����� ��
� 674 / 8*69
�$�	 �
����$ ���! 	 ��
���
	������ �
���+
 �
��
��	 B�	�� 2D� 9������	� ��
���
	���
��
� �
���	 �����
�����$ � �	�� ������
�
�
#�
�
	H

��� 
�� ��.#�� ����$

11 / 11B�1�' O �1�) O �1�,D N 1I B'D

��� �
�� 5�
�
 �
������
�� �	��
�
 ����
���	� Kdc�H

1' / 1'B�'�1 O �'�2 O �'�LD N 1I B�D

��� �
�� 5�
�
 �
������
�� �$�
�
�

������	� Kbc'H

12 / 12B�2�3 O �2�:D N 1I B2D

��� �����$ ��
���	� �$�
�
�
 ������	�
Ka�H

1) / 1)�)�3 N 1I B)D

��� 
 ��	�$ �$�
�
�
 ������	� #bcH

13 / 13B�3�' O �3�2 O �3�%D N 1I B3D

��� �����$ ��
���	� �	��
�
 ������	�
Ka� H

1, / 1,�,�% N 1I B,D

ÏÐÎÌÛØËÅÍÍÀß ÝÍÅÐÃÅÒÈÊÀ ¹ 11, 2013 39

#)�2>�� #)�)>�� 1*69>�&(
 A�'>�&(
 A��>�&(
 A�>�&(
 b>���?� ��>�W

'3�2>'3 '2�'>%3 %1>3'L �'>:,' ':>L'1) :L>),: �>::: ,,>:'%

')%2>'3 '�L,>L3 ,:>L�' �'>:,' ':>L'1) :)>:1: �>:13 ,%>�'L

')�2>'3 '�%�>)3 ,%>23: �'>:,' ':>L'1) :1>�32 �>%�) ,%>,3:

'2%2>'3 '�):>�3 ,3>:', �'>:,' ':>L'1) %3>:'3 �>,)2 ,:>'�,

'2�2>'3 '��)>)3 ,)>2'' �'>:,' ':>L'1) %'>)%L �>3,) ,:>,2%

'�%2>'3 '�11>L3 ,�>:2) �'>:,' ':>L'1) ,%>�3) �>):3 ,L>':%

'��2>'3 ''%%>:3 ,'>2:: �'>:,' ':>L'1) ,2>'22 �>)1% ,L>%:2

''%2>'3 ''33>13 3L>L%' �'>:,' ':>L'1) 3L>'�� �>221 %1>)�2

'')1>23 '')1>23 3L>133 �'>:,' ':>L'1) 3,>331 �>�:1 %1>:,L

�� & ' �

^

�h i ` _ (

e] Ka� Kbc Kdc

Ka�

]f )b�� )b�� #dc #bc

1b

1b

1b

1b 1b 1b

0��� U� -��" ��

��
��
���: ���
�� ��h ? 0-�n � �����
��
���
�� �1�
�
� ��)���� � �����
��
���
�� �������� 

���
� �
�������6 /01 �99�������

�+��6 /02 ���
��99��������99v@w;

� 	 ' K �
�� 5�$� �
������
�$ �	��
�
 	 �$�
�
�
 ������	�I & 	 ^ K �����$ ��
���	� �$�
�
�
 	 �	��
�
 ������	�I ( 	
_ K 
 ��	�$ �$�
�
�
 	 �	��
�
 ������	�I ` 	 i K ��������
	��$� �
�
�����
��	 �$�
�
�
 	 �	��
�
 ������	�I �h K ���
�

����	
��+I �� K������
�
������

�



��� 
 ��	�$ �	��
�
 ������	� #dc H

1% / 1%B�%�: O �%�''D N 1I B%D

��� ��������
	��
�
 �
�� �
�
�
�����
���
�$�
�
�
 ������	� )b��H

1: / 1:B�:�) O �:�LD N 1I B:D

��� ��������
	��
�
 �
�� �
�
�
�����
���
�	��
�
 ������	� )b�� H

1L / 1LB�L�, O �L�'1D N 1I BLD

��� ���

����	
��� ]f H

1'1 / 1'1�'1�1 N 1I B'1D

��� ����
�
������

�� e] H

1'' / 1''�''�1 N 1� B''D

(  ������	�� B'D / B''D �	��
���	 

 11
�
 1'' 
�
������$ �


�	 �
#�
�
	 �������


� ���!� ��
���
	����
� �
���	 674 / 8*69
� �� ��
 �����
$� ���
	�� �
�� �� 	 �
��
�
�
� 
���

$ � 
��
�� . Ka� 	 �
�
��	�

��+� . Ka� �����$ ��
���	� B��� �	�� 2D> �
�	��
���	 

 �1�' �
 �''�1 K �
�!!	�	��
$
�������	 �


�
� �����		 �


��
�
� .#	�
������

� ���!�� �
�!!	�	��
$ � 
��������
.
�� ��� 

�
5��	� ����������
� �
#�
�
	
� �
#�
�
	 ������
� ���!�> ��	�	��.#��

�


� �����		�

( ��� �+
�
� ��5��	�  ������	� ���!�
�$�	 �
� ���$ ���� .#	� ������	� �
�!�
!	�	��

� �������	 �


�
� �����		H �1�' N
N 1>�%)LI �1�) N 1>3'2,I �1�, N 1>�''3I �'�1 N
N 1>'%:I �'�2 N 1>2L�)I �'�L N 1>)�L,I �2�3 N
N 1>1%)3I �2�: N 1>L�33I �)�3 N '>1I �3�' N
N 1>'%2�I �3�2 N 1>'1�,I �3�% N 1>%�)�I �,�% N
N '>1I �%�: N 1>3)1LI �%�'' N 1>)3L'I �:�) N
N 1>2L)3I �:�L N 1>,133I �L�, N 1>)1,:I �)�'1 N
N 1>3L2�I �'1�1 N '>1I �''�1 N '>1 	 �


�
�
�
#�
�
	 ������

� ���!�H 11 N '')L2)>23I
1' N )::'�>2I 12 N �L232>%I 1) N L%'L1>23I
13 N LL2%,>3I 1, N 3,,,2>%I 1% N '�:,�:>�I
1: N L,%)1>:I 1L N %L3)%>:I 1'1 N )%':L>LI
1'' N 3L133�

=
��
����� �
� ����$� ������	� �
�!!	�
�	��

� �������	 �


�
� �����		 � ��
�	�
� > 
��������� �
�
� ������	� �!!��
	��
�

�=A ��� ���

 ��	��
� 674H

�
� �

�

1�) 1�,

�
�

�
�

1

1
''

1

'11
%1 :,,

B D
> �

=
���5�
�
+ �$�	����	� ��� ���	��
�
�
	 �
�������
� 
�
	�	���		 ������
�
� ���
�
�	� 
�� ���

 ��	��
� 674 �
�
��	�� ��	

����� �=A 1>112 W�

������

'� =�	�����	� �����

����$� 674 / 8*69
�
��
���
 ��
	��
�	
+ ����
�
�����	. ��	
�$�
�
� �=A B%1>:,, WD� 9���	���	� �!!���

	��
�
 �=A 674 / 8*69 � �� ��
 ������

$� ���
	�� �
�� �� 	 �
��
�
� 
���

$ �

��
�� . 	 �
�
��	
��+� . �4 �
 �������
�	. � �!!��
	��$� �=A ���
�
� 674 / *69
B2,>3 WD �
�
	 � � ���� �
��
 �
��
��$�
����
���� ��	���	. ��
��
 �� ���
	� �
�� �
�� � �
������
�� � ��
��� 

��$� �
�� �
�

����	
���� ������
�	� �
����
�
 	��
�+�
�
���	� 
���

$  �
��#	� ���
� ��� �
�
�����
�
�� �� � ��������
	��$� �
�
�����
���� 	
�� ���
  ���	���	� ����
�
�
 ����
�� ���
�
���
 
��� � 
 ��	� �	��
�
 ������	� 	�
�
������
�� �	��
�
 ������	�> ���������
�

� �
�
��	
��+�
� ������ ��
���	��

�� =
�$5��	� �=A 
���� �
�
	���
��
��	 ��	���		 
������
 �$ ���
� �� �$�
��
	� �
�
��	
��+�
� �����$ ��
���	� Ka�

����
����  ���+5��	. �

��+ �  �
��#	�	
�����	� ��
	� � 
������	���
�� ��	 ������
�
�� 
������
 � �
��� #bc 	 �
��� Ka��

2� =�	�����	� ��� 
�
	�	���		 ������
�
�
� ���
�	� 
�� 674 / 8*69 ��
���
	����
�
�
 �
���	�
���	� � 	��
�+�
���	�� ��
�	�
�$�
�
�!!��
	��
> 
 ��� ��	��
��+�
� �
 �
�
�
5�� ��
�	�
�
+ ������	� ��	
��	� 
�
	�
�	���		�

������99��

��
���

'� ,�+������: -� -� *��

 ��	��$� 	 ���
���
�$�  ��

��
��	�����8
��		���K��6���
������
	��>��'LLL>��Y '�

�� ���6��� �� �� �� �!!��
	��
�
	 ��
	��
��
�� 
���
�

$ � 


�	
��+�$� 
���
���
����� � ���
�$�	
�

���	 	 ���
�$�	 
 ��	���	� K =�
�$5������
������
	��>���11L>��Y %�

JdFLMJdGPiMN�NF]KGHPGO\ZFP]�uMZ

40 ÏÐÎÌÛØËÅÍÍÀß ÝÍÅÐÃÅÒÈÊÀ ¹ 11, 2013

�


